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4. Your company has a 3 node telephone system. Calls coming into the 800 number are Poisson with
mean of 35 per hour. The caller gets one of two opticns: press 1 for claims service and press 2 for
policy service. Assume that the caller's fistening, decision, and bution pushing time is exponential with
mean of 30 seconds. Only one call ot a time can be processed, and arrivals are buffered if scrme call
is currently in service. Assume infinite buffers. 55% of the calls go to claims (having 3 servers with
exponential service time of mean 6 minutes), 45% to policy service (having 7 servers with exponential
service time of mean 20 minutes). About 2% of the customers finishing at claims go on to policy

service and about 1% of the customers finishing at policy service go to claims. Find

4.1) Draw block diagram of network (2 AZLUU]
4.2y Tota! (effective) arrival rate to each node (2 AZUNU)
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4.3} Probability each node is empty (3 Az
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4.2} Mean nurmber of calls in each node (3 ATUHNY)
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4.3) Mean waiting time in queue and total waiting time in each node {6 ATLLMW)
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4.4) Total mean waiting time in the network (2 AzLH)
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